TETEEBREN



REAHBERES EZOHME

FRAEAR T, —ROIBEERN R AETEDOKEL RO DIZODEDTH Y | [5GEHRE] (B
BAE) BSOS ROFEICLY, FAHL HHEANBRICEE LT,

(1) fEAEAZEHOE B
FEYEAEGHE L, OS5 SOEBHICEELTWD, FEHBONRIZ. TNLEhN
WP T 5 FEHRESE O KR PFEE B IS T 5,

R - BB

EEBassE - R OB KIE, FHE - FEA

P - Bt - Bk L UVEY

HE 1 e PREEEENR, A - R, HE . BORpLEE

HeZ T e TOMOBEESH GEMER., o0, ZBRE, XD &)

(2) BB, a8 N BRIEREARE OEE
2 AN~5 ANEHFIZHONWTIL, FEFHEICBITA5M24E5 AL SM34E4 A
FCTOEBRITEHIHERE (HARZ 4 NICHHELZL0) (o, &ARL, fHH
NBERNAGTERE R Z R U CRE LT,
B, 1 AMEICON TR, AFRORE L 2EOEREAFE LW, Zh
R OB BN ek 2FEOE BHEH XA THRLIEZLOZFED
THEL,

(%) #HRBI i BRI A R R
TR2E T A~FM2F 12 AOFGEHFREOREIN D 9 6 sBEEANEN 1 A TRIFED
FFE TR & £ OF THRK S W DIRHEHR IOV T AN BN I ERE 8 o 2 A 5]
IRz RD, Ikt 4 AR OE B REL SR TR L TE AR,
NBERVERHE R RS 2 R T2,

— 51—



F16x% EHA. HEFEABNEZELEHE
ZD1 &
WHAR| 1 o A 3 A 4 A 5 A
% H
oy pals # 29,690 H 47,590 55,580 H 63,570 H 71,560 H
= B OB R & 37,270 45,380 39,070 32,770 26,470
R - B Y B 3,690 4,150 5,190 6,240 7,290
Tt b= I 14,980 32,350 40,090 47,840 55,600
ME b= I 7,200 21,200 20,730 20,270 19,800
& H 92,830 150,670 160,660 170,690 180,720
D2 4 [SFn3E N FEiE)E 25 EE]
BHAR| | 2 A 3 A 4 A 5 A
£ H
= £ # 30,060 H 48,180 56,270 H 64,360 H 72,460 H
£ E OB R & 44,700 54,430 46,870 39,310 31,750
#we R - B Y B 5,160 5,800 7,270 8,740 10,200
T4k # I 23,600 50,950 63,150 75,350 87,570
T4k # I 11,200 32,990 32,260 31,540 30,810
= 3 114,720 192,350 205,820 219,300 232,790
17 EBA., HHEABNEHEBRERYN
HH#AR N 3 A 4 A 5 A
% H
=T £ ey 0.579 0.676 0.773 0.870
fF BB & =y 0.964 0.830 0.696 0.562
# R B ¥ # 0.464 0.581 0.698 0.815
HME % I 0.344 0.426 0.508 0.591
ME % II 0.563 0.550 0.538 0.526




